main0 SLOW DMA
SPI_putData(str,2);

“66” %1% {5 (0x36[00110110]%&2[8]:%1(E)

MYTHENZITIS

e ¢N+ _____

TXD - DI | _
:001101100

-2, 00us 76.00us 176.00us
Chi 2V D 20us
Chz  2¥ D

test= 00 res=02



main0 SLOW DMA
SPI_putData(str,10);

“666666aaaa” = 1E{E (0x36[00110110]%6[8] £0x61[01100001] %4 [E]:E(S)

Clock

test= 01 res=0a



main0 SLOW DMA
res=SP| getData(str,1);

1byteZ{E D T, 8[Elclock/NILADIHE B, ILE EMY THRAIAL

1-Dec-2011 20:26:46

Clock

TXD - DI

-20.20us 29,80us 79,80us
Chi 2y DC 10us
Chz 2% DC

test= 02 res=01



main0 SLOW DMA

res=wait ready();
TXDMHIZR = TUNIE, 1byteZ{EDI2EIITHND

1-Dec-2011 20:28:6

TXD - DI

-20.80us 79, 20us 179, 20us
Chi 2y DC 20us
Chz 1 2y DC

test= 03 res=00



main0 SLOW DMA
res=send cmd(0, OxffL);

deselect Tlbyte, select C2[EbyteiidA Hi L T, 0x40,0,0,0,0xff,0x951X1E, T D dHE10byteimAHHIL

1-Dec-2011 20:30;

Clock

TXD - DI

-588.00us 412.00us 1.41ms
Chi 2y DC 200us
Chz + 2v DC

test= 04 res=ff



main0 SLOW DMA

res=send cmd(0, OxffL);

0x40,0,0,0,0xff 0x9535 4= EB 4 D ¥i K

0x40:[01000000]  Oxff:[11111111] 0Ox95:[10010101]
1-Dec-2011 20:31:34

Clock

TXD - DI

-10.40us 189, 60us 359.60us
Chi: 2y DC 40us

ches2v be test= 04 res=ff



main0 SLOW DMA
res=disk_initialize(DRIVE_NO);

deselect C1EIFEAH LT, 10EBldummyiiAHL, ZDHcmdoEEEIE, 10EdummyiiA L, &x#&ITdeselect T1EIFREAHL
1-Dec-2011 20:33:12

Clock

TXD - DI

-1.82ms 184.00us 2.18ms
Chi 2y DC 400us
Chz + 2v DC

test= 05 res=01
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